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WEST BENGAL STATE UNIVERSITY
B.A. General PART -I Examinations, 2017

SANS~T-GENERAL

PAPER-SANG-I

Time Allotted: 3 Hours Full Marks: 100

The figures in the margin indicate foil marks.
Candidates should answer in their own words and adhere to the word limit as practicable.

[

Unit-J

Marks-IO
1. (a) Define and illustrate any three from the following metres:

f.hilMmQl-~ ~ ~ '1,*~~'flf\'{3~

~\jUt>Fml, ~, \3q~q\JIl, ~, WtRT I

(b) Scan and defme any two from the following metres:
M~M~ Ql-~ ~ 'if~'if ~~f.fcfu~~

(i) ~OIJiI~ ftrci ~lqCf>{i'lId'{>+tI

(ii) '1qq(Y1I~lq(Y1I~lq;:jgx: I

(iii) ~ ~ f.1'<I{ldl!4Cf>1{l11

(iv) ~ Cf)RfT ~'<5j'{>O" ~Cf>I'<WI'd: I

2x3 =6

2x2=4
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Unit-II

Marks-lO
2. (a) Decline any five from the following:

M~M~~-~ ~ ~~~cmng
(i) ~ in ~ qCf)CliI"1 I

(ii) ~ in ~ QCf)CliI"1 I .

(iii) GC\ in (Cfc;f!Clf"C1jf) ~ ~§CliI"1l

(iv) ~ in ~ QCf)CliI"1 I

(v) "R in ~ CI§CliI"1 I

(vi)~in~ CI§CliI"1l

(vii) ft«J in ~ QCf)CliI"1 I

(viii)~in ~ ~I

(b) Conjugate any five from the following:
M~M~~-~ ~ .9f~g

(i) -V3Nfin~ 1st person plural.

(ii) -VTfif.in ~ 2nd person singular.

(iii) ~ in ~ 3rd person plural.

(iv}..J-frqin ~ 1st person plural.

(v) ~ in ~ 3rd person plural.

(vi) ~ in ~ 1st person singular.

(vii) ~ in ~ 2nd person dual.

(viii) -vqq in ~ 3rd person plural.

1x5 = 5

1x5 = 5
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Unit-III

Marks-40

3. (a) Narrate the episode of Brahmacarin as you find in the first act of 12
'Svapnavasavadattam' and discuss its dramatic significance.
~<tI>1<t~'(3~t~ ~ ~ ~-P1~ igijjlblm1'(31'S~cf.«~ ~~ ~ ~ ~~9f(
~ICQijlb~1~ I

Explain the significance of the title of the drama 'Svpnavasavadattam'.
~<tI>1<t ~'(3~f\if~C<t$'!1~1~<ti'!1C~~~9f<t ~ ~ I

O~

Analyse the special traits of the character ofUdayana.
@~~C~'!1~C<tfillJ~'f~1

(b) Translate into Bengali or English anyone from the following:

M~f6l~~-~ "'~ ~~amr~~~~~~

(i) cfimGCfJIPi ~: cgXj41IPi ~

ffi cF115)q••g,,~ ~I

~ iq'tlctl ";f ~ ~-

~ ctqR<l~ cgC'l¢tct~ctG~I: II

(ii) ~~GI;fj ~il¢qlCfJI

~qICll;::.Q f':fIf(h)~f4~CfdI: I

~m~m"ctm~~
1i~~tmt <IT ~ Gl'C.lICllG~t:r11l

6

O~

Write short notes on any two from the following:

~~~~~-~~~m~~~
qfl"'ctCfJ, flj~~!8, C'llqIOICfJ,~ I

3x2=6
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(c) Explain with reference to the context anyone from the following Sloka:
~~M~Ql-~ 4!l~ ~~~~~~

7

(i) ~ ~1I1Q1~ lld~qSiltn

mC"lIt4 llf?llS1:lffl g'1f4\J1~'1 ~: I

ct>1C"Iw~ol "\jf"lffi: qRqctSiI'11

'mPR q;sJiliRq ~ ~llllq;S;Rt>: II

(ii)~~~~~11'f?l1~~ ~:I

~qqll~: XSRj em' SiiiilSiI'1I: tljetidl: II

•
4. (a) Who is Sukanasa? Write in your own words the advice delivered by him.

~~~? ~<tS"iIC>j~~~~~<fcf.«~1

O~

10

Analyse the merits and demerits of Banabhatta's style.

cn~ ~b"iIt"1a41~~'f '€ Ot1~>jl!<A.'$l~'f ~ I

(b) Translate into Bengali or English anyone from the following:
M~M~ Ql-~ 4!l~ '6{iC~C'f~ <m'1t~~~~~~

(i) G~f'1l'1GI'1SiQlj~5 llolllP<i, 1l"?eqldjqct>lxqar ~lqllP<i, x=MltlOISi~
~ ~, 3l1$1ISi~ qxl'lGIo:1 1RRf, tG~fSi~ qlq'1SiIct>C"IlIP<i1

5

(ii)~ ~ ~, ~
1lR fctc;rm ~, l'ISi't1d I ~fta1 f?lfd,

" 'f?lfd

~, 1fTlIT
t<!GlxqRflllll:

WI ~,
31ClI tl PIct fd,

1106 4



B.A.lPart-I1Gen.lSANG-I12017

Unit-IV

Marks-IS

5. (a) Account for the case-endings in any six from the following underlined 1x6 = 6
words:
~~-~~~~-~~cfu~g

(i) t9T?T:+jltj dllCf},!OI1 ~ I

(ii)~:~~1

(iii) ~ fiel!!!i~: I

(iv) mur ~ Cl'TC1T I

(v)\iR: ~ fcMfd I

(vi) ~ ~ qcti ~Cf}I~ld I

(vii) fmJ: ~ ~ I

(viii) ~ ~ 3l1JliU~ fua:rcp: I

(ix)~:~~~1

(x) ~ 3lj ~I

(b) Illustrate the uses of any two from the following:
H~fallm~-~!fU ~'ml~'t~g

(i) f1l;{1IRp~~t!lu1~ I

(ii)~: ~1~41~ ~ I

(iii) ~'1IJt~Cf}I'!: I

(iv)~~1

(c) Join in Sandhi any two from the following:
M~fallm~-~!fh ~~g

(i) ~ + ~:, (ii)"Tf: + 3lf{t, (iii) ffi + ~, (iv) lfffiT + ~: I

2x2=4

Ix2 =2
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(d) Disjoin in Sandhi any three from the following:
f.hIM~~-~ ~~~~g

(i)~

Ix3 = 3

(ii) 5'f1')t141C1:

(iii) msftt

(iv)~:

(v)~

(vi)~1

6.

Unit-V

Marks-25
Translate the following passage into Sanskrit:
~ lOl~p,~,"ttt~~ ~ <ffift~

Iswarchandra Vidyasagar was born in a poor Brahmin family in the village
of Birsinha in the district of Midnapore. His father brought him to Calcutta
to give him education.
~'SIt)df M"tJI>lItjm ~~ ~ ~~ ~ ~~ ~ ~'f ~ ~~'f
~ I~ ~ ~t"tIC~'ll-w.u ~ <flG1<flI\tI~m~ I. .

l(

O~

King Uttamapada had two wives - Suniti and Suruci. Suruci was younger.
Suniti's son was Dhruva. One day Dhruva came to his father but the king
ignored him.
~m9ftOOf~'{3~~~9fiT~I~~~1 >r~R5'S1~~1
~m~~mm~ ~"f~~~~9f'Jf>t <fl'SlCG1~I
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7. Read the following passage and answer the questions given below in
Sanskrit.

f4~M~ '6I-rC~l'fro~ ~~ ~ ~~ m~~~"fte~
~ ~ ~.~ ~ fl41qJiI~I('l1 ~d~?I'flI ~"1Gfiq"1l~ ~
~ ~ ~~IJilfll ~ dljffiql1 ~ cw.rr: Tif ~ Cf)Rtsll~, ~ "fiT
dl<fmq ~ j~qR~d fl~qJiI"1ilC\, ~ ~ "Cf>G"Tf4 Cf)'flIlfCl -=q
~ ~ I ~nCf)lC1f~ ~ &lxl'"'dO<~llU~ 3Tfq ~ ~ ..,
S41l{1qC111fcltfOOI~G~1 "fiT S4('l1I~f11I OGT ~: di ~nCf)\~I·II~ \iq~~~I, <mT
~:~WT~I .

(i) ~ ~ ~ fl41qJiI~llUct ? 2

(ii)~ ~ ~ fcp ~ ~? 4

(iii)~: FcPjffiq1i 7 4

(iv) ~nCf)ldf ~ fcp ipdQC11 ? 3

(v)~: di FcPjq~tCQl1 ? 2

~ 7


